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In which they were planted ten in a XS n°2 - 7IRD noab 7wy Punan

OVERVIEW

»X rules in order for a 7717 in a 1R 77V to be valid so the p°1n retains the ¥pp, the
trees must be spread in a ratio of ten trees per X0 n°2.' Our MoOIN attempts to reconcile
this ruling with other cases concerning selling trees and being w7 trees where we find
different requirements regarding the spacing of trees in order to acquire the land.

nvoIn asks:
— 3)",7‘1‘,7 P /) NP 22Nt Zaa9n APIN NIV INNT PNYY 199299 NYP

The s"9 has a difficulty; for why is 7P different from a sale, for where

someone bought three trees he acquires the land associated with these three trees -
— VPP NP R DYINON NN IND N%AY NIYUM

However ten trees in a 78® N2 are considered spread out and he does not acquire

land; if he purchases ten trees spread over a 0"2; he merely acquires the trees, but not the land.

mooIn proves that one is not ¥YpIp NP where he bought R0 N2 7 Wwy:
— 415’N HaY PPYUNNY INNN Y AND NraY TYya1

For by ©'"2% 2wy there is a total of two hundred-fifty square n»x of land for

each tree -
— 919 /) 1P 23 (3,39 97 0pY) NIPAVN NN 991N

And in 77392977 DR 99777 279 regarding one who buys three trees, etc. (that he also

acquires the land between them) —
— 12991 1NN 1791 N YaN Snavy wY 1 “hanvn 19232 NN? 199 99N

The X713 states how much space can there be between the trees and he still

! Concerning saplings (n15°01) they are planted ten per 0"2 (which is 2500 square nwK), giving each tree 250 square

mnX. Regarding mature trees it appears (see previously 2,13) that given their proper nourishment, would require three

trees per 0"2 which is 833.33 sq. nX per tree. Using pi equals 3.14 (pi is the ratio of the circumference of a circle

to its diameter) that would give each tree a radius of close to 16.3 mnR (if pi equals 3 [as the X3 calculates] the

radius will be 16.666 nnR). [It should be noted however if we plant three trees giving each of them a circle of 833 sq.

nnR (without any overlap), we would need an area larger than a 0", because the three circles already occupy a 0"2 and

there is in addition the empty space(s) between the circles.]

% The n"2n1 mmx1 amends this to read, '3 MPT X227 107

? The rule is if someone buys three planted trees and they did not discuss the land surrounding the trees; if he

purchased three trees within a prescribed proximity to each other, the buyer automatically acquires the land around

and between the trees.

* A 0" is fifty by fifty nmK; a total of twenty-five hundred square nx; divide it by ten trees leaves you with two

hundred-fifty square ninx per tree.

> It can be no less than eight, for then the trees are too close and will be uprooted.

% There is another view there (R0 27) that it is ' 791 "172; but MooOMN question is valid even if we assume the larger Myw.
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acquires the land between them; from (no less than) eight n12X and up to sixteen
mn»R; however more that sixteen n1X between the trees is considered spread
out, and the buyer does not acquire the land; only the trees -

— 192520 18 991 7 19N 93 911 175 179353 WIY)
And when there is sixteen nX between the trees it comes out to eight [nnK]

(radius) per tree in all directions around the tree.
— VA P20 PN 1PINDY NYNY 172 HY 179 HY XAV 10T

This is an area of a circle of sixteen by sixteen NX in diameter from which the

tree nourishes equally in all directions; a circle with a diameter of sixteen (or a radius
of eight) with the tree at its center. N1901n discusses now the area of this circle to compare it to
the area of 0"2% 7wy (which was two-hundred-fifty square nnx).

— 1YY PYUNNI INND NN DIY2I99 V79 DY 179

And a square of sixteen by sixteen N»X equals two hundred-fifty-six square nnx -
—DonND 19%9N INYS Y 9929 51090 Yy 905 ¥219127 10799390 Y924 5T

Subtract a fourth from this area since a square has one fourth more area than

a circle, there will not remain even two hundred square nnx per tree -
— PaxD n2aY /> YW 90 NY NIYN

It is evident that this amount of sixteen DX between trees is not the amount of
ten trees per ©''3; it s less.

Mmoo offers a (tentative) answer:
— APINY 991 1°2 PHNY Y XNWH

And perhaps one can differentiate between a sale and a 7P -
— VD P99 DN AV 7975 PPOIN 1ONX ONX ¥PIP NIPT 9N KD INT 991 *2)4

For regarding a sale we certainly assume that he does not acquire the land
surrounding the trees if they are not planted as densely in the manner that

" The n"a7 Mt amends this to read, 99n nAK M.
¥ A square of one inch (for instance) on a side contains a total area of one square inch; however a circle with a
diameter of one inch will have less than one square inch (for it is missing area in all four corners). The X713 teaches
us that the area of a square is one fourth more than the area of a circle (inscribed in this square), therefore if a square
of sixteen (on a side) is two hundred fifty six square nK; a fourth of that is sixty four N leaving the total area of a
circle with a diameter of sixteen N1X to be one hundred ninety two square NX. [Today we would say that the area
of a circle with a diameter of sixteen N (or a radius of eight nX) is about two hundred and one square N1MX.]
? See previous footnote. [When we say that a square is a fourth more than a circle, it does not follow that a circle is a
fourth less than a square. Five is a fourth more than four; however four is a fifth less than five (not a fourth). A fifth
less than two hundred fifty six is almost two hundred five.]
' To summarize: When there are ten trees to a 0"2 each tree is surrounded by two hundred fifty square nvx and it is
considered a proper distribution (regarding 77?117). When buying trees one acquires the land between them only if the
distribution is no more than about two hundred nX per tree, but no more. Why is it that by 711 we allow a more
sparse distribution and by 75n we require a more dense distribution?!
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people are accustomed to plant -
— 19PN )9IN NN 1751 AN PININY PN BTN 33 T4
And the custom of people is not to distance one tree from another tree more

than sixteen N¥2X; meaning an eight 7nX radius per tree -
— AT YV NP PINA NTHY 1D NDINY 29 YY 9N

Even though the nurturing area of one tree enters into the nurturing area of the

other tree -
— My Y NN 175 19931 DI ININY
For mature trees nurture in a radius of sixteen nyX from all sides -
— 27919507 QNP MY 93 1NN 19N 7IN9NY 7T PN Ta
And therefore it is not customary to distance one tree from another their

entire nurturing area which would be thirty two n1R; sixteen nR per tree -
— 75 1N INYIN 72 KIN 79I NTYA YIN YOI NY 19 ONT

For if indeed it were so a person would not be able to plant in a large field only

two or three trees, therefore the custom is to plant trees together even though their respective
nurturing areas overlap -

— Mm99 MW PENIN JNY 39 YY N NP MW PAntn 8NN APIN a3 YaN
However regarding 7211 there is a 11?117 in the land according to the amount of

nurturing required, even though they are distanced the amount of nurturing
which is sparser than people usually plant their fields.

nvoIn asks:
— YDA NN VTN NS N PHNY 139D NYP VAN

However the 3''9 has another difficulty, for the power of the laymen is stronger

than the power of wp: -
— V75 49 NINVN YPIAP NP NYHY NIp VTN YaNT

For regarding vy77 the rule as mentioned is that if he bought three trees he

' See footnote # 1 (the number 16 may not be exact).
"2 If we were to give for each tree a radius of sixteen M»X (plus); the circle which nourishes this tree will be more
than eight hundred square nX. In a 0"2 of twenty five hundred square n¥aX, one could plant three trees at most
(depending on the configuration of the property). See [bracketed portion at the end of] footnote # 1.
1> A mpin is defined as utilizing the land. In this case the entire land is being utilized since all of the land is nurturing
the trees.
'* Moo answer may be summarized as follows; regarding buying trees the question is did the 737 intend to sell him
the ypp between the trees as well as the trees. We therefore assume that since these trees are spread wider than the
customary manner, we assume that the sale was only for the trees. However by 1p1m, the p>1mn claims that he bought
everything from the 2y7yn; the land and the trees, and since he is 2’111 in a manner that there is a maximum 7p°2 for
all the trees, (since there is no overlap) it is a proper P11 (for he can claim I want to that my trees should have the
maximum 77°2 so they will bear the choicest fruits).
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acquires the land provided that the distance between the trees is from eight to

sixteen N1X; meaning an area of (a minimum of fifty to a maximum of) about two hundred

square NX per tree -
— (8,ay 97mpY) 22D HN 92191 9102 NN VIPN 22N

However regarding w7p:7 we learnt in a Xn>92 in the end of ns277 AR 927 P75 -
— VPPN DR WITPN N1 9N AND NAY NIYY YUNN MNIDIN NYHY WTPN

If he was w>Tp» three trees in a distance equal to the ratio of planting ten to a

©''2 (meaning two hundred fifty mnX per tree) he was also w>pn the ¥pap, however -
— YD AN WA RY P19 Yy 9999 N 1N MINS

If it was less than this amount or more than this amount he was not w>p» the

YP9P; meaning if there was only two hundred mnX per tree (where he acquires the land by 73n),

w7pn will not acquire the land, the question is -
— 991919 VTP NIV NN

Why is w7pn different from 95%; wipn is not anp the vpp and by 791 he is. Seemingly
the power of w7pi1 should not be weaker than the power of v1°77, if by a 0177 he acquires the
yp7p the same should (at least) apply be w7pn?!

mooIn offers the 07VNMPT W10 on this matter:
— NN NOYN 999 NYTA ONNT (vonn nnmn M1 owv) %20 NN 99197 §ID2 DIVIPN YI9)

And the 2"2w1 explained in the end of nv2n nR 921277 P79, that there (by 13n), it

depends on the mind of the seller; he is capable of granting the land even if it denser than
0"2% " vumn -

— NNY NN NP WIPN 23) Yan
However regarding w7pn it depends on the nourishment (and if it is denser [or
sparser| than 0"2% ", it is not W7pm).

Moo continues with a different 7"o -
— VI (hna 93nmnn M%7 X390 97 ow) NI2QDN NN 9919P2)

And in 7392077 PR 9527 P75 the 0"awA explained -
— NPV IND 993 MHNT NMIDIN YITPNRY P41 NIN) 991 3)

Regarding the distance of the trees concerning 95%, that regarding w>7p» trees it

also has the same rule as 7on (up to sixteen Mnx between trees, and not 0"2% ") -
— NIDD AR 12D NIYY YWITPNA 2NPT (3,39 97 ovw) AN NN 999977 RNP92)

And the Xn%>92 in n°277 AR 9577 P75 which states regarding ws7p that it need be
the ratio of ©"'a% ' argues on the Xn>12 of 71’507 nX 121, However both mn>1a equate 7

15 “Less or more’, can be referring either to the trees (nine or eleven per 0"1), or to the area (more or less than a 0"2
(per ten trees). The result is the same. [However from later in '0n it seems that N9 is referring to the area.]
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and w7pn. One 8n*12 (in 1°27) requires ©"2% " (for both) and the other (in 712°5057) requires 73 'Mn
1" (for both). The 0"awn there continues -
— YD 13D 73 1D 95 a1 Ppnhrant XNoDINN NIN

And there is proof (that w77 and 7on have the same 7y°w, and that the two
mn»2 argue) from the XnpoIn of our Xn>on which teaches regarding the rule
that if he bought three trees he acquires the ¥P9p2; the xnoson states -
— 19992 92y 9PN RAY »1 NTY N 029D 1 NN
And what is the closest that the trees can be to each other that he acquires ypap;
sufficient space that an ox and its utensils can pass between the trees -
— AND 17%25 NIVY YORN 0PN 5915 Hnoy
And how far can the trees be from each other, in the ratio of planting ten in a 8'"'2 -
— DN%2Y 19NN NN XYY ¥7990 DX N3P XY AT 9NNX D12 NIPYIN 12 5Y 9999 IN ININD HHIND
Less than that or more than that or if he bought the trees one after the other
(not together) he does not acquire the land or the tree(s) that are between the
trees he bought -
— (xay 9710p%) $Y2D NN 9919N2 31T NOND WITPNA NP 99N N3
And afterwards the Xnoo1n teaches regarding wsTpn, this is the same Xn°12
which is brought in n277 nR 92177 P75 that wIpa also requires 0"3% > yumn (just like 790).
This Xn1901N equates WP and 1o1; both require 0"2% . It is evident that there are two opinions
regarding 7on (whether we require 0"2% " or denser) and similarly regarding w7pi. According to
the 0"2w there is no difference between WP and 727, just two differing opinions.

In summation the 71"> offers two solutions, either that w7pi is different than 757 (because 112
XN2°n X°9n) or that WP and 757 are the same; it is a NP2 between two Mn»72 regarding the
requirement of 0"2% " (both by 5% and w7p:).

mMdoIN responds to an anticipated question:*
— Py5999 973 9929V STIN 333 NP WTPN 233 5INPT NI MNDT AN

And it is the view of m»oIn that the term Ix2% nn® which was taught by wTpsn

103 ",
' The n"a71 M amends this to read, 73p 333 *InpT; deleting the word 3.
'8 The n"2n N3 amends this to read, Yo Dopmn V.
e ow,
% The n"aw" maintains that w7p77 and 79» have the same ruling. However in the Xnoown which mioon just cited it
states regarding w7pn that it must be 0"2% " yunn and wW>7p7 X2 (39 %Y 0 W) 1891 M, which presumably means that
if there were ten trees in less than a 0"2 (it was more dense) it is not w7pi, however regarding 121 he is ypp AP
even if it was so dense that there was only 1°931 72 123°w >73, which is much denser than 0"2% ".
*! 1xon mno does not mean less than a 0"2 as we initially thought (see previous footnote # 20) but rather it is always
WP unless it is so dense that there is no room for even 1°921 727, just like 75n.
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also refers to the limiting factor of, ‘in order an ox and its utensils can pass’

between the trees, but not to a 0"a -
— 991 %33 1139 AN AN IND 1NN 1N

And the term IX2% a0 refers to [ten trees] per 8''2 just like by 9272; it cannot be
denser that 1931 922 72y°w >75 and it cannot be sparser that 0"2% .

mdoIn is now referring to the original question; why the difference between 7P and Jon:
— NNODINT NN¥H2 NN AN 9201 99139 NPIN 192 715N PRT 9999199 XD 923 N 299)

And even according to this (that there is a npYonn regarding 2% whether it needs
to be 0"2% " or not) one cannot say that there is no difference between 7P and
2o», and a8 (here who maintains that P11 requires 0"2% ) will maintain like

that Xn>392 of the XnN®LIN (which maintains that by 757 there is [also] the requirement of "
0"2%), so there is seemingly no contradiction;** moon rejects this solution -
— YUY NYY T /NN 9INT 119N 293 920 129 »aN NIT

For 2R himself agrees with 1'% who requires from eight to sixteen nmx

maximum regarding 157 (and not [as sparse as] 0"2% ") -
— 1913 2971 71%9Y 1990 XY Pq01% 295 AN 1Y N1

For »2R said to 3''9, ‘do not argue with 2'"9’. Therefore we must make the distinction of
the p7n% w° XY mentioned previously in this Mo,

nvoIn asks:
— PYNY 229N PYNY 2297 NOVD 19 ON WTPNY 991 1391971 XY 9NN ON)

And if you will say; and if we compare 95» to TP (as the 0"2aw" explained),

there will therefore be a contradiction from 2''1 to @' -
— 1Y %395 19 19997 530 NX 999971 XNNT
For we establish that X172 in n%an AR 99m7 P79 (regarding wpa, which requires
0"2% " yunn) according to w''A -
— OYMIN PYNIY 229 PINRM 229 IMIIN (8,59 971p% NI’V HN 921912

And the X773 in 7799977 NR 9217 P19 cites a 71wn where @'Y »''Y maintain -
— WYY ¥t X%a7Y 99 770 Yy /N ma X YONN

One who plants his vineyard, eight n12X by eight n1»X he is permitted to plant

22 The n"a7 M amends this to read, N2 WYX *Xp.
2 See footnote # 10.
# »ax follows the ruling of the XmooIN (that up to ©"2% " is a np), which argues on the Xn>12 in 73507 P39 which
allows a maximum of only 12°X? 12°K 12 nR 1" (denser than 0"27 ).
% 2,29 1pY. There *" argued with 1" and ruled that they need to be 'n 791 'Ta. See footnote # 6.
%6 See x,2v 1MpY where the X703 states X7 @' RDWD KOX.
" This means that every row of grapevines was separated from the adjacent row of grapevines by eight nmx (see
yuun a7 2,20 0"awn).
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seeds there? -
— PNYIN 9919 113 NN OND NN DI MNN /N PYNRY 19 PVYUN NN

It is evident that @' considered eight n»R to be spread out, and the X3

there brings a proof from this ruling of w"2 regarding selling trees, indicating that
a spread of MnX 'n, which is denser than 0"2% " yunn is too sparse and we require less than '
nnx, for him to be 7117, which is much denser than 0"2% " vomn.”’

N1B0IN answers:
— 1PNV 5399 (a8 9710p%) %20 DX 999903 Y 79I XYY DTN 13 PYRY 135295 AN

And it is the view of the R'"aw= that the X1 does not establish that Xn>92 in

n°a57 X 99177 70 [entirely] like @' -
— yrrpn XN NP9 Y3 YITPN 920 NPT INDA NIN

But rather only in regards to what " maintains that ws7pn X%7 799 P02 wI7Pn -

TN NP RY 09191 NN /N 2UNT NN YAN
However regarding that which @' considers n»R ' to be 23919%; in that the
Xn>72 does not agree with him, but rather he is ¥yp7p 71 only 0"2% "> yumn.

SUMMARY

7Pt can be even 0"2% " (which is sparse) since this is 7p°1 MW, however 9%
must be denser (17°K? 12°R 1°21") according to »2ax for this is the 777. We may either
assume that 7on (") and WP (0"2% ) are different, or that both are the same and
there is an argument whether both require "> or 0"2% ".

THINKING IT OVER

mooIn contradicts W™ of wIpa (0"25 ) with w"3 of 7on (less than 'm).*> However
previously mpoIn stated that [in the XN190IN] 1851 NIMD means only less than P27
1’531,33 which is denser that ' o, so what 1s the contradiction?!

*¥ Since the rows are so far apart (eight NK) it is 27197 and is not considered a 273.
¥ The xn*"2 of w7pn which is according to w" requires 0"2% ", however by 72» it must be less than m»x ' (much
denser than 0"27 ). This is a question only if we agree with the o"2w" that w777 is 1913, See ‘Thinking it over’.
% The n"a7 M amends this to read, YA *2713 >3 N7 DR 12T X7 1.
3! The xn™71 there stated a rule how he is 775 the N119°X when he is not n1p the ypp, which indicates that the &Xn»"2
maintains W 7pn 7v7 1Py wpn. The Xin who maintains this is w". But it has no connection to the rule of 0"2% "; that
is not according to w"".
32 See footnote # 29.
3 See footnote # 21.
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